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A quick guide to levy-funded subsidies - Tax and Spend

Levy-funded subsidies can involve explicit levies, which fund subsidies, or can be based on obligation-based schemes (often using tradable certificates), where the levy is implied.  For both, the levy element classifies as a tax and the subsidy element as Government spending. The words ‘levy’ and ‘tax’ can be used interchangeably.  
Why are levy funded subsidies taxes? 
Levy funded subsidies count as both tax and spend in the National Accounts drawn up by Office of National Statistics.  This is because they involve Government-mandated transfers of value between individuals or entities. A payment (such as a levy) is a tax if it is:

· Compulsory – relevant individuals/entities have no choice but to pay; and

· Unrequited – those paying receive no direct commensurate benefit in return.

In addition, even where a scheme is obligation based, these entail a payment to other parties that is mandated by Government and so represents a tax. So levies count as tax even if no funds are actually received, or paid out by, the Exchequer and even if there is no option to pay a charge rather than meeting an obligation (a buy-out option).  

Why are levy-funded subsidies spending?
If levy revenue is used to fund spending this spending is assessed in the same way as any other spending programme. Even where a scheme is obligation-based this counts as public spending because:

· A certain group (for example an energy supplier) faces an obligation which requires payment to another group (eg producers of renewable electricity). In essence, this is a compulsory cross-subsidisation – a tax for the group facing the obligation, a subsidy for the group receiving a payment.  With an obligation based scheme this often takes the form of payment for tradable certificates.
· These certificates have a tradable value but are awarded for free, they represent a free transfer of value – i.e. a Government subsidy. Levy-funded subsidies therefore count towards total public expenditure, impacting on scale and allocation of public spending.
· The existence or development of a levy does not therefore create additional spend but is included within the total Government spending envelope, which has been fixed by the Chancellor at Budget. 
Why else is HMT interested in levy-funded subsidies?
Levy-funded subsidies will have an adverse economic impacts on particular sectors or groups (eg environmental levy-funded subsidies will increase consumer and industry costs). This should  be considered in the context of other policies (including standard taxes), which may also add costs to different groups, sectors or industries.

· Introducing new taxes to pay for specific aspects of spending reduces the Government’s flexibility to direct resources where they are needed, and crowds out the Government’s ability to raise taxes more effectively elsewhere in the economy.

Requirements for HMT Clearance
Often, other Government Departments lead on individual levy-funded subsidies. However, given impact of levy-funded subsidies on public spending and tax burden:

· Any changes to levy-funded subsidies or development of new levies require bilateral agreement from HMT Ministers to go ahead. They cannot be unilaterally developed.

· Any proposals for new levy-funded subsidies should normally be linked to spending review discussions. 
· Where it is not possible to put forward proposals at a spending review, it is still critical that all decisions on levy-funded subsidies be made as part of the Chancellor’s overall fiscal judgment, ie at Budgets and PBRs. The Consolidated Budget Guidance (para 3.29) sets out that the strong presumption will be that Departments will only be given permission to net-off income from levies within their DEL allocation alongside agreement to reduce the Department’s DEL budget by a compensatory amount.
Any proposal for a consumer mechanism should consider: 
Policy objective: 

· What is the policy objective? What is the barrier to be overcome by having a levy funded subsidy e.g. the environmental cost is not included in decision making. 

· Does a levy meet Government's objectives?:  the Government has stated: 

· it’s highest priority is to reduced the deficit
· it wishes to simplify the tax system rather than introduce further complexity (particularly for business) 
· Why is a levy-funded subsidy the best instrument, compared to existing policy, regulation, conventional tax, a spending programme or an information campaign?  

· What do you want the tax to do? eg raise revenue, change behaviour etc

· What is the rationale for hypothecation of tax revenue? Ie why should revenue be raised and be re-spent on a particular programme (hypothecated) rather than being prioritised in line with government’s fiscal objectives (in the spending review) like all general revenue (i.e. used to pay down the deficit).

Overarching position of public finances:

· What is the profile of tax receipts and spending over time including potential volatility (what are the total funds, are they increasing, decreasing as behaviour is successfully changed over time)?

· Will tax revenues automatically match spending?

· Are their impacts on the government’s ability to raise/maintain other taxes to pay down the deficit?

· Is the spending good value for money, including the cost of delivery (ie cost benefit ratio, cost per unit of change)

· What is the administration cost: consider the pressure for certain exemptions, reliefs and different rates which add further cost, complexity and business burden.

Tax effectiveness:

· Why is this sector or group the best place to target compared to elsewhere in the economy? ie If seeking behavior change how will this work? 

· What are the deadweight costs (the cost of providing a benefit to those who already have or would have engaged in the desired activity without an incentive)? Where the transactions would have occurred however with the added tax, the transactions do not go ahead because of the increased price. 

· Second-order impacts – are there wider market/fiscal effects or does the tax lead to the market acting in an inefficient or distortionary way (ie incentivising unwanted behavior)?
· Fairness: which sectors and groups are affected and how are the costs passed on? (Ie taxes on utilities are generally regressive - lower income households pay disproportionately more of their income)
· What are the impacts across groups ? (income deciles, household types, etc)

· What are the impacts across sectors (SMEs v large business, different industry sectors)

Deliverability: Consider: legality; compatibility with EU directives; compliance costs; and administrative simplicity.

Public acceptability: which groups would be for and against this?
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